3.

BILL OF QUANTITY (One Job)

	Office Attendants (19), Duplicating Machine	Operator (0)	2) & Auto Mechai	nic (01)
S. #	Description	Quantity	Rate Rs.	Amount Rs.
1	TROUSER Viscose summer suiting 'A' Quality or better. Dark Grey with (Fuse Belt) complete stitching / tailoring. (As per sample)	44	1150 =	50600
	SHIRT Blended fabric wash n wear 65% Cotton x 35% Polyester embroidered logo (Maroon + White) on chest and color Dark Grey 'A' Quality. Computerized Name Tag Embroidered, Vel - Cro Shirt collar (As per sample) (All Shirts are full sleeves)	44	1159=	50600/2
	MOCCASINS Specification should match with the sample Bata / Service or equivalent	22	3000=	66cod=
	SOCKS 100% Cotton (As per Sample)	44	150 =	6600=
	Note: 6 Shalwar Qameez may be order a			
S. #	Electrician, Generator Operators, (08) Painte		Rate	Amount
3. #	Description	Quantity	Rs.	Rs.
	TROUSER Viscose summer suiting 'A' Quality (Both Side Cross Pockets). Large patch pocket, Dark Grey as per client requirement & approval with complete stitching tailoring. (As per sample)	34	1150/=	39100/2
22	SHIRT (Half Sleeves) Blended fabric wash n wear 65% Cotton x 35% Polyster embroidered logo on chest and color Light Grey 'A' KARAC Quality as per client requirement & approval. With computerized Name Tag Embroidered Vel – Cro (As per sample)	Wisel Har	[150]=	39100=
3	MOCCASINS Specification should match with the sample Bata / Service or equivalent	09	3000 2	27000/2
4	SAFETY SHOES Half Ankle with metallic toe Black color or equivalent	08	2350 =	18800/2
5	SOCKS 100% Cotton MEMBER (E.	34 (TERNAL)	150/2	5100/2
Za	MEMBER RAL BURCHASE COMMITTEE SINESS ADMINISTRATION RARACHI CHARPERSON CENTRAL BURCHASE COMMITTEE M. Marketing CHARPERSON CENTRAL BURCHASE COMMITTEE	SE COMMITTEE SOME COLONIC TO BE CO	TO STATE OF THE PARTY OF THE PA	Page 6 of 15

St. Mi IBA)

Dr. Faisel Hodat
Chairman epc

			Rate	Amount
S. #	Description	Quantity	920	Rs.
			Rs.	

	<u>Drivers (15), Rider (01)</u>			
5.#	Description	Quantity	Rate Rs.	Amount Rs.
01	Shirt Blended fabric wash and wear 65% cotton / 35% polyester Colour: Grey, 'A' Quality or better Embroidered IBA logo on front pocket With measurement, stitching / tailoring as per client requirement & approval (As per sample)	22	1150/2	25300/2
02	Pants Viscose summer suiting 'A' Quality or better Colour: Black, With measurement, stitching / tailoring as per client requirement & approval. As per Sample	22	1150]2	25300
03	Shalwar & Kameez Cotton fabric Colour: Grey, 'A' Quality Number of Front Pockets: Two (One each at Side and Front left top) Embroidered IBA logo on front pocket With measurement, stitching / tailoring as per client requirement & approval. As per Sample	10	2280/2	22800/2
04	MOCCASINS Specification should match with the sample Bata / Service or equivalent	16	3000/2	48000
	SOCKS 100% Cotton CENTRAL PURCHASE COMMITTEE INSTITUTE OF BUSINESS ADMINISTRATION	32	150/2	4800/2
06	Twill Cloth with Plastic Hood KARACHI PARA Advisor II To the state of the state	15	450/2	6756 2
	Sanitary Worker (Male - 17 &	Female 2	2)	
S. #	Description	Quantity	Rate Rs.	Amount Rs.
01	TROUSER (MALE) Viscose summer suiting 'A' Quality. Dark Brown as per client requirement & approval with stitching / tailoring. As Per sample	34	1150/2	39100
02	requirement & approval. With zipper opening and two pockets on bottom of shirts. Full Sleeves MEMBER (I	34 EXTERNAL)	1150=	39100

GENTRAL PURCHASE ACUIN
INSTITUTE OF BUSINESS ACUIN
Wojeek Zaidi
So. Mangex IT
113A, Marachi
113A, Marachi MSTRATION

CENTRAL BURCHASE COMMITTEE Admin offices, INSTITUTE OF BUSINESS ADMINISTRATION

Ar. Fairal Tradet

Chair person epe

US 17, 1 Coracli:

Page 7 of 15

	As per Sample			
03	MOCCASINS Specification should match with the sample Bata / Service or equivalent	17	3000/2	51000/2
04	SOCKS 100% Cotton (As per Sample)	34	150=	5100/2
05	SANITARY WORKER (FEMALE) Shawalar Kameez, beige color 'A' Quality embroidered logo left side pocket Duppata with dark brown boarder or better as per client requirement & approval As per Sample	04	2280/2	9120/2
06	MOCCASINS (Female) Specification should match with the sample Bata / Service or equivalent	02	2000 2	4000/2

	Gardener	(9)		
S. #	Description	Quantity	Rate Rs.	Amount Rs.
01	Shalwar Kameez Suit Fabric: Blended Polyester Colour: sky blue With embroidered "GARDENER" & IBA logo on pocket As per Sample	18	2280/2	41040 2
02	Peshawari Sandal Upper: Leather, Colour: Black, Sole: Rubber As per Sample	9	1900/2	17100 2
03	Peak Caps (same as security) P-Caps of Navy Blue color with embodied "Security" in semi-circle on front face top and "IBA logo" below it Colour: Navy Blue, With embroidered JBA Logo	18	370=	6660 2

	CENTRAL PURCHASE COMMITTE Cook & Bearer of Boys Ho	stel (5)		
S. #	INSTITUTE OF BUSINESS ADMINISTRATION Havis KARACHI Description Cux 281 2 2 2 2	Quantity	Rate Rs.	Amount Rs.
in BA 01	Cook: Cook: SPRA Cook: Shalwar Kameez Suit Fabric: Blended Polyester Colour: Malaysian Color With embroidered IBA logo on pocket, Apron and Cap. MEMBER (EXTERI		2900/2	Younus Cook Jan and Sajid Bearer

INSTITUTE OF B

MEMBER
CENTRAL PURCHASE COMMINISTRATION
Wejch Zaidi
G. Manager IT
113A, Kaxaelis

CHAIRPERSON

CENTRAL PORCHASE COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION

KARACHI

INSTITUTE OF BUSINESS ADMINISTRATION

Dr Can Faisal I faclot

Misisfant Professor

(BAI Carachi



Page 8 of 15

(1)

	As per Sample			
02	Bearer: White shirt (fabric 100% cotton) and black pant recommended. (pic attached). With computerized Name Tag Embroidered Vel – Cro As per Sample	4	2200 2	Tanveer & Zakir
03	MOCCASINS Specification should match with the sample Bata / Service or equivalent	5	3000/2	15000/2
04	SOCKS 100% Cotton (As per Sample)	10	150/2	1500/2
		MEMBER (EXTENTRAL PURCHAS TUTE OF BUSINESS	SE COMMITTEE	690770/2
	GST 17%	(DO) by	My Common	
	G I T I I A	min office MB, vok	1	117430.9/2 808200.9/

Grand Total Amount (in words) Eight LACS Eight THOUSAND TWO

HUNDRED & NINTY PAISA ONLY.

NEMBER

CENTRAL MICHASE COMMITTEE

NISTITUTE OF JUNESS ADMINISTRATIO

Les Alexan Hurrin

Logni Anance 113A

Logni Anance 113A

CHAIRPERSON
CENTRAL PURCHASE COMMITTEE

MEMBER (EXTERNAL)

CENTRAL PURCHASE COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION

HAVIS OUT ABOUT

Haris Our Strain
PPRA Advisor
HEJ



Stamp & Signature

Dr. Em Flisal Trollat Assistant Professor 1BA, Karaelii

CENTRAL PURPLY COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION

Wajech Zaidi

K. Manager IT

IBA, Kabachi



Page 9 of 15